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def Dijkstra(start: int, mgraph: list) —> list:
:param start: FCH L
:param mgraph: AREEHIFE (3R EONA A AL 2 T
return: MARLE SRS SRR S SR
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passed = [start]
nopass = [x for x in range(len(mgraph)) if x != start]

dis = mgraph[start]

while len(nopass):
idx = nopass[0]
for i in nopass:
if dis[i] < dis[idx]: idx = i

nopass. remove (idx)

passed. append (idx)

for i in nopass:
if dis[idx] + mgraph[idx][i] <dis[i]: dis[i] =dis[idx] + mgraph[idx][i]
return dis

if name == main ’:
Inf = float ( inf’)
Adjacent = [[0, 4, 2, Inf, Inf, Inf],
[4, 0, 3, 5, Inf, Infl],
[2, 3, 0, 8 10, Inf],
[Inf, 5, 8, 0, 2, 6],
[Inf, Inf, 10, 2, 0, 3],
[Inf, Inf, Inf, 6, 3, 0]]
start code=0
print (Di jkstra(start code, Adjacent)) # [0, 4, 2, 9, 11, 14]



